City of Santa Rosa

2/8/2022

City of Santa Rosa **Project Bid Summary**

Client: CITY OF SANTA ROSA Project No.: C02300

Bid Opening: 02/08/2022 2:00 PM

Owner: City of Santa Rosa

Contract No.: C02300

Rank	Vendor Number	Business Name	Total Bid Amount	Percent Over Low Bid	Percent Over/Under Estimate
		Engineers Estimate	\$6,660,099.70		
1	TBD	BORTOLUSSI & WATKIN, INC	\$6,009,025.20	0.00%	9.78% UNDER ESTIMATE
2	TBD	MARINA LANDSCAPE, INC.	\$6,098,741.55	1.49%	8.43% UNDER ESTIMATE
3	TBD	WABO LANDSCAPE & CONSTRUCTION	\$6,286,800.19	4.62%	5.61% UNDER ESTIMATE
4	TBD	HANFORD APPLIED RESTORATION & CONSERVATION	\$6,713,006.75	11.72%	0.79% OVER ESTIMATE
5	TBD	MCGUIRE AND HESTER	\$7,173,703.00	19.38%	7.71% OVER ESTIMATE
6	V006204	TEAM GHILOTTI INC	\$7,567,141.00	25.93%	13.62% OVER ESTIMATE
7	TBD	BRIGHTVIEW LANDSCAPE DEVELOPMENT	\$7,712,495.39	28.35%	15.80% OVER ESTIMATE



2/8/2022

City of Santa Rosa Project Bid Abstract

Project Name: FIRE DAMAGED ROADWAY
LANDSCAPING
Client: CITY OF SANTA ROSA

Bid Opening: 02/08/2022 2:00 PM

Contract No.: C02300

Project No.: C02300

City of Santa Rosa Owner:

	Project:	C02300 - FIRE DAMAGED ROADWAY LANDSCAPING			Engineers E	stimate	BORTOLUSSI &	WATKIN, INC	MARINA LANDS	CAPE, INC.	WABO LANDSCAPE &	CONSTRUCTION
Line No	o. Item		Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	110001	MOBILIZATION	LS	1	\$493,340.72	\$493,340.72	\$480,700.00	\$480,700.00	\$160,000.00	\$160,000.00	\$502,000.00	\$502,000.00
2	120100	TEMPORARY TRAFFIC CONTROL	LS	1	\$151,200.00	\$151,200.00	\$499,860.00	\$499,860.00	\$230,000.00	\$230,000.00	\$70,000.00	\$70,000.00
3	074020	WATER POLLUTION CONTROL	LS	1	\$126,000.00	\$126,000.00	\$25,000.00	\$25,000.00	\$60,000.00	\$60,000.00	\$90,000.00	\$90,000.00
4	160101	CLEAR AND GRUB	LS	1	\$105,000.00	\$105,000.00	\$195,000.00	\$195,000.00	\$130,000.00	\$130,000.00	\$140,349.00	\$140,349.00
5	9990. 04295	TREE REMOVAL - GROUP A	EA	34	\$500.00	\$17,000.00	\$225.00	\$7,650.00	\$200.00	\$6,800.00	\$225.00	\$7,650.00
6	9990. 04295	TREE REMOVAL - GROUP B	EA	90	\$1,000.00	\$90,000.00	\$335.00	\$30,150.00	\$300.00	\$27,000.00	\$335.00	\$30,150.00
7	9990. 04295	TREE REMOVAL - GROUP C	EA	26	\$2,500.00	\$65,000.00	\$600.00	\$15,600.00	\$500.00	\$13,000.00	\$600.00	\$15,600.00
8	9990. 04295	TREE REMOVAL - GROUP D	EA	20	\$4,000.00	\$80,000.00	\$950.00	\$19,000.00	\$1,100.00	\$22,000.00	\$950.00	\$19,000.00
9	9990. 04299	STUMP GRIND, GROUP B	EA	169	\$500.00	\$84,500.00	\$75.00	\$12,675.00	\$40.00	\$6,760.00	\$75.00	\$12,675.00
10	9990. 04299	STUMP GRIND, GROUP C	EA	49	\$1,000.00	\$49,000.00	\$120.00	\$5,880.00	\$75.00	\$3,675.00	\$120.00	\$5,880.00
11	9990. 04299	STUMP GRIND, GROUP D	EA	38	\$1,500.00	\$57,000.00	\$150.00	\$5,700.00	\$100.00	\$3,800.00	\$150.00	\$5,700.00
12	150686	REMOVE AND DISPOSE OF IRRIGATION COMPONENT	LS	1	\$15,750.00	\$15,750.00	\$170,000.00	\$170,000.00	\$78,000.00	\$78,000.00	\$61,980.00	\$61,980.00
13	722001	REMOVE AND DISPOSE OF LOG PILES OR DEBRIS	LS	1	\$13,125.00	\$13,125.00	\$6,500.00	\$6,500.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00
14	1212	SOIL PREPARATION	EA	30300	\$3.50	\$106,050.00	\$1.00	\$30,300.00	\$1.70	\$51,510.00	\$7.00	\$212,100.00
15	4545	24" BOX TREES	EA	82	\$450.00	\$36,900.00	\$400.00	\$32,800.00	\$420.00	\$34,440.00	\$360.00	\$29,520.00
16	45456	15 GALLON TREES	EA	172	\$250.00	\$43,000.00	\$125.00	\$21,500.00	\$155.00	\$26,660.00	\$160.00	\$27,520.00
17	9990. 02559	5 GALLON SHRUBS	EA	4501	\$45.00	\$202,545.00	\$35.00	\$157,535.00	\$22.00	\$99,022.00	\$32.00	\$144,032.00
18	9990. 02559	1 GALLON SHRUBS	EA	25533	\$18.00	\$459,594.00	\$14.00	\$357,462.00	\$10.00	\$255,330.00	\$18.00	\$459,594.00
19	202011	MULCH	SF	570263	\$1.00	\$570,263.00	\$0.30	\$171,078.90	\$0.85	\$484,723.55	\$0.38	\$216,699.94
20	203561	JUTE NETTING	SF	20500	\$1.00	\$20,500.00	\$0.40	\$8,200.00	\$0.60	\$12,300.00	\$0.75	\$15,375.00
21	205051	FOLIAGE PROTECTOR	EA	222	\$80.00	\$17,760.00	\$150.00	\$33,300.00	\$160.00	\$35,520.00	\$96.00	\$21,312.00
22	152400	2" MAIN LINE	LF	25800	\$12.50	\$322,500.00	\$8.00	\$206,400.00	\$10.00	\$258,000.00	\$8.00	\$206,400.00
23	208310	SLEEVE 4"	LF	1225	\$20.00	\$24,500.00	\$65.00	\$79,625.00	\$45.00	\$55,125.00	\$110.00	\$134,750.00
24	208310	SLEEVE 6"	LF	4570	\$20.00	\$91,400.00	\$100.00	\$457,000.00	\$70.00	\$319,900.00	\$115.00	\$525,550.00
25	11	LATERAL LINE	LS	1	\$288,560.50	\$288,560.50	\$285,258.00	\$285,258.00	\$1,120,000.00	\$1,120,000.00	\$450,000.00	\$450,000.00
26	860782	ELECTRICAL CONDUIT	LF	170	\$8.00	\$1,360.00	\$12.00	\$2,040.00	\$25.00	\$4,250.00	\$20.00	\$3,400.00
27	208562	QUICK COUPLING VALVE	EA	121	\$610.00	\$73,810.00	\$350.00	\$42,350.00	\$150.00	\$18,150.00	\$405.00	\$49,005.00
28	206747	48 STATION MC-E CONTROLLER	EA	12	\$6,040.00	\$72,480.00	\$5,800.00	\$69,600.00	\$10,500.00	\$126,000.00	\$6,800.00	\$81,600.00
29	860640	SITEONE GREENTECH CONTROLLER ASSEMBLY	EA	8	\$18,938.31	\$151,506.48	\$18,650.00	\$149,200.00	\$22,500.00	\$180,000.00	\$17,000.00	\$136,000.00
30	206851	MASTER CONTROL VALVE	EA	20	\$935.00	\$18,700.00	\$850.00	\$17,000.00	\$600.00	\$12,000.00	\$650.00	\$13,000.00

	Project: 0	C02300 - FIRE DAMAGED ROADWAY LANDSCAPING			Engineers E	Estimate	BORTOLUS:	SI & WATKIN,	MARINA LAI	NDSCAPE,	WABO LAND	
Line No.	Item		Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
31	232	FLOW SENSORS	EA	20	\$600.00	\$12,000.00	\$750.00	\$15,000.00	\$620.00	\$12,400.00	\$1,000.00	\$20,000.00
32	223	REMOTE CONTROL VALVE, SIZE 1"	EA	207	\$290.00	\$60,030.00	\$710.00	\$146,970.00	\$420.00	\$86,940.00	\$590.00	\$122,130.00
33	225	REMOTE CONTROL VALVE, SIZE 1.5"	EA	38	\$445.00	\$16,910.00	\$750.00	\$28,500.00	\$520.00	\$19,760.00	\$530.00	\$20,140.00
34	208706	COMMON AND CONTROL WIRING	LS	1	\$84,525.00	\$84,525.00	\$189,000.00	\$189,000.00	\$82,000.00	\$82,000.00	\$390,000.00	\$390,000.00
35	208683	LEAD FREE BALL VALVE	EA	85	\$485.00	\$41,225.00	\$775.00	\$65,875.00	\$565.00	\$48,025.00	\$365.00	\$31,025.00
36	208420	BACKFLOW PREVENTER ASSEMBLY	EA	20	\$3,850.00	\$77,000.00	\$5,200.00	\$104,000.00	\$3,700.00	\$74,000.00	\$4,700.00	\$94,000.00
37	208631	PRESSURE REGULATING VALVE	EA	31	\$815.00	\$25,265.00	\$1,500.00	\$46,500.00	\$1,650.00	\$51,150.00	\$1,300.00	\$40,300.00
38	209502	BOOSTER PUMP	EA	8	\$25,000.00	\$200,000.00	\$29,700.00	\$237,600.00	\$35,000.00	\$280,000.00	\$27,000.00	\$216,000.00
39	160121	BUBBLERS	EA	22004	\$60.00	\$1,320,240.00	\$22.00	\$484,088.00	\$25.00	\$550,100.00	\$31.00	\$682,124.00
40	190101	DRIPLINE	LF	140675	\$2.00	\$281,350.00	\$2.00	\$281,350.00	\$2.00	\$281,350.00	\$1.95	\$274,316.25
41	208683	BALL VALVE FOR FLUSHING	EA	116	\$35.00	\$4,060.00	\$180.00	\$20,880.00	\$52.00	\$6,032.00	\$180.00	\$20,880.00
42	711100	OPERATION INDICATOR	EA	116	\$20.00	\$2,320.00	\$35.00	\$4,060.00	\$24.00	\$2,784.00	\$75.00	\$8,700.00
43	208670	CHECK VALVE	EA	148	\$15.00	\$2,220.00	\$185.00	\$27,380.00	\$65.00	\$9,620.00	\$75.00	\$11,100.00
44	204099	PLANT ESTABLISHMENT, 3 MONTHS	LS	1	\$56,700.00	\$56,700.00	\$54,342.00	\$54,342.00	\$130,000.00	\$130,000.00	\$45,000.00	\$45,000.00
45	150604	VINTAGE PLACE TRELLIS REPAIR	LS	1	\$52,500.00	\$52,500.00				\$27,000.00	\$30,000.00	\$30,000.00
46	719209	NEW SERVICE METER PEDESTAL	EA	11	\$11,500.00	\$126,500.00	\$11,500.00	\$126,500.00	\$13,500.00	\$148,500.00	\$11,500.00	\$126,500.00
47	719209	UPGRADE OF SERVICE METER PEDESTAL	EA	1	\$8,000.00	\$8,000.00	\$3,000.00	\$3,000.00		\$13,000.00	\$3,000.00	\$3,000.00
48	600100	TRENCHING AND BACKFILLING	LF	2300	\$40.00				\$15.00	\$34,500.00	_ ` `	\$92,000.00
49	208706	1" CONDUIT INSTALLATION	LF	580	\$12.00				\$14.00	\$8,120.00		
50	208706	1.25" CONDUIT INSTALLATION	LF	370	\$15.00		· ·		\$23.00	\$8,510.00		\$2,405.00
51	208706	1.5" CONDUIT INSTALLATION	LF	390	\$20.00				\$25.00	\$9,750.00		
52	208706	2" CONDUIT INSTALLATION	LF	950	\$25.00				\$18.00	\$17,100.00		
53	208706	3" CONDUIT INSTALLATION	LF	500	\$30.00	\$15,000.00	· ·		\$40.00	\$20,000.00		
54	208706	ELECTRICAL WIRING CONNECTIONS FOR IRRIGATION CONTROLLERS AND BOOSTER PUMPS	FA	8	-	\$24,000.00		\$22,000.00	\$720.00	\$5,760.00		\$22,000.00
55	208706	ELECTRICAL WIRING CONNECTIONS FOR IRRIGATION CONTROLLERS	EA	4	\$1,200.00			\$8,000.00	\$900.00	\$3,600.00		\$8,000.00
56	666751	CALTRANS 3.5 CONCRETE ELECTRICAL PULL BOXES	EA	9	\$900.00			\$5.850.00	\$730.00	\$6,570.00		
57	666751	CALTRANS 5 CONCRETE ELECTRICAL PULL BOXES	EA		\$1,100.00	\$11,000.00		\$8,250.00	\$820.00	\$8,200.00		\$8,250.00
58	666751	CALTRANS 6 CONCRETE ELECTRICAL PULL BOXES	EA	2				\$1,700.00	\$1,250.00	\$2,500.00		\$1,700.00
59	666751	CALTRANS 3.5T CONCRETE ELECTRICAL PULL BOXES	EA	2	. ,	\$2,200.00		\$3,000.00	\$1,760.00	\$3,520.00		\$3,000.00
60	666751	CALTRANS 5T CONCRETE ELECTRICAL PULL BOXES	EA	2		\$2,800.00		\$3,700.00	\$1,950.00	\$3,900.00		\$3,700.00
61	869005	NO. 12 AWG CONDUCTORS	LF	4000	\$2.00				\$2.00	\$8,000.00		
62	869005	NO. 10 AWG CONDUCTORS	LF	2000	\$3.00	\$6,000.00			\$1.65	\$3,300.00		
63	869005	NO. 3 AWG CONDUCTORS	LF	2500	\$5.00	,			\$4.90	\$12.250.00		
64	869005	NO. 2 AWG CONDUCTORS	LF	5500	\$5.00	\$27,500.00		1 - 7	\$2.75	\$15,125.00		, .,
65	869005	NO. 1 AWG CONDUCTORS	I F	2000	\$8.00		<u> </u>		\$9.00	\$15,125.00	<u> </u>	
66		TREE PROTECTION FENCING	LF	15630	\$8.00 \$5.00	,		1 - 7	\$9.00 \$7.00	\$18,000.00		,
67	155530	1.5" WATER SERVICE	EA		\$4,300.00		· · · · · · · · · · · · · · · · · · ·		\$7,000.00			
07	100000	1.3 WATER SERVICE	LEA		φ 4 ,300.00	\$00,000.00	\$9,000.00	φ 190,000.00	\$7,000.00	φ 140,000.00	\$7,000.00	φ 140,000.00
		r Project C02300				\$6,660,099.70		\$6,009,025.20		\$6,098,741.55		\$6,286,800.19
	% of Esti	mate for Project C02300						-9.78%		-8.43%		-5.61%

1 7	Project: C02300 - FIRE DAMAGED ROADWAY LANDSCAPING Engineers Estimate					HANFORD APPLIED RESTORA	TION & CONSERVATION	MCGUIRE AND HESTER TEAM GHILOTTI INC				
Line No.		. OOZOOO TINE BYWINGEB NO/IBYVIN ENWEDGEN ING	Units	Quantity		Total Price	Unit Price	Total Price				Total Price
		MOBILIZATION	LS		\$493.340.72	\$493.340.72	\$64,200.00			\$300.000.00		
2		TEMPORARY TRAFFIC CONTROL	LS		\$151,200.00	\$151.200.00	\$179.900.00	1.,	,	\$205,000.00	,	,
2		WATER POLLUTION CONTROL	LS		\$126,000.00	\$126.000.00	\$53,100.00	\$53,100.00			. ,	
		I CLEAR AND GRUB	LS		\$120,000.00	\$120,000.00	\$146,700.00	, ,	, ,	\$142,000.00		
	9990.	CLEAR AND GROB		- '	\$103,000.00	\$105,000.00	\$140,700.00	\$140,700.00	\$142,000.00	\$142,000.00	\$701,000.00	\$701,000.00
5	04295	TREE REMOVAL - GROUP A	EA	34	\$500.00	\$17,000.00	\$458.00	\$15,572.00	\$238.00	\$8,092.00	\$225.00	\$7,650.00
ь	9990. 04295	TREE REMOVAL - GROUP B	EA	90	\$1,000.00	\$90,000.00	\$626.00	\$56,340.00	\$354.00	\$31,860.00	\$335.00	\$30,150.00
	9990. 04295	TREE REMOVAL - GROUP C	EA	26	\$2,500.00	\$65,000.00	\$1,110.00	\$28,860.00	\$634.00	\$16,484.00	\$600.00	\$15,600.00
	9990. 04295	TREE REMOVAL - GROUP D	EA	20	\$4,000.00	\$80,000.00	\$1,920.00	\$38,400.00	\$1,000.00	\$20,000.00	\$950.00	\$19,000.00
	9990. 04299	STUMP GRIND, GROUP B	EA	169	\$500.00	\$84,500.00	\$273.00	\$46,137.00	\$79.00	\$13,351.00	\$75.00	\$12,675.00
	9990. 04299	STUMP GRIND, GROUP C	EA	49	\$1,000.00	\$49,000.00	\$406.00	\$19,894.00	\$127.00	\$6,223.00	\$120.00	\$5,880.00
	9990. 04299	STUMP GRIND, GROUP D	EA	38	\$1,500.00	\$57,000.00	\$441.00	\$16,758.00	\$158.00	\$6,004.00	\$150.00	\$5,700.00
12	150686	REMOVE AND DISPOSE OF IRRIGATION COMPONENT	LS	1	\$15,750.00	\$15,750.00	\$23,000.00	\$23,000.00	\$8,580.00	\$8,580.00	\$78,000.00	\$78,000.00
13	722001	REMOVE AND DISPOSE OF LOG PILES OR DEBRIS	LS	1	\$13,125.00	\$13,125.00	\$7,420.00	\$7,420.00	\$1.00	\$1.00	\$19,700.00	\$19,700.00
14	1212	SOIL PREPARATION	EA	30300	\$3.50	\$106,050.00	\$13.00	\$393,900.00	\$0.50	\$15,150.00	\$3.35	\$101,505.00
15	4545	24" BOX TREES	EA	82	\$450.00	\$36,900.00	\$591.00	\$48,462.00	\$646.00	\$52,972.00	\$395.00	\$32,390.00
16	45456	15 GALLON TREES	EA	172	\$250.00	\$43,000.00	\$260.00	\$44,720.00	\$266.00	\$45,752.00	\$163.00	\$28,036.00
	9990. 02559	5 GALLON SHRUBS	EA	4501	\$45.00	\$202,545.00	\$79.00	\$355,579.00	\$34.00	\$153,034.00	\$39.80	\$179,139.80
	9990. 02559	1 GALLON SHRUBS	EA	25533	\$18.00	\$459,594.00	\$29.00	\$740,457.00	\$13.50	\$344,695.50	\$13.60	\$347,248.80
19	202011	MULCH	SF	570263	\$1.00	\$570,263.00	\$1.25	\$712,828.75	\$0.50	\$285,131.50	\$0.38	\$216,699.94
20	203561	JUTE NETTING	SF	20500	\$1.00	\$20,500.00	\$0.70	\$14,350.00	\$0.80	\$16,400.00	\$0.55	\$11,275.00
21	205051	FOLIAGE PROTECTOR	EA	222	\$80.00	\$17,760.00	\$122.00	\$27,084.00	\$222.00	\$49,284.00	\$185.00	\$41,070.00
22	152400	2" MAIN LINE	LF	25800	\$12.50	\$322,500.00	\$27.50	\$709,500.00	\$19.50	\$503,100.00	\$11.40	\$294,120.00
23	208310	SLEEVE 4"	LF	1225	\$20.00	\$24,500.00	\$57.50	\$70,437.50	\$189.00	\$231,525.00	\$61.00	\$74,725.00
24	208310	SLEEVE 6"	LF	4570	\$20.00	\$91,400.00	\$58.00	\$265,060.00	\$199.00	\$909,430.00	\$51.00	\$233,070.00
25	11	LATERAL LINE	LS	1	\$288,560.50	\$288,560.50	\$55,500.00	\$55,500.00	\$798,000.00	\$798,000.00	\$704,787.00	\$704,787.00
26	860782	ELECTRICAL CONDUIT	LF	170	\$8.00	\$1,360.00	\$44.00	\$7,480.00	\$7.50	\$1,275.00	\$2.25	\$382.50
27	208562	QUICK COUPLING VALVE	EA	121	\$610.00	\$73,810.00	\$445.00	\$53,845.00	\$370.00	\$44,770.00	\$298.00	\$36,058.00
28	206747	48 STATION MC-E CONTROLLER	EA	12	\$6,040.00	\$72,480.00	\$20,900.00	\$250,800.00	\$8,610.00	\$103,320.00	\$13,356.00	\$160,272.00
\vdash		SITEONE GREENTECH CONTROLLER ASSEMBLY	EA	8	\$18,938.31	\$151,506.48	\$20,300.00	\$162,400.00		\$160,800.00		\$188,320.00
30	206851	MASTER CONTROL VALVE	EA	20	\$935.00	\$18,700.00	\$3,260.00	\$65,200.00		\$17,300.00	\$500.00	\$10,000.00
31	232	FLOW SENSORS	EA	20	\$600.00	\$12,000.00	\$979.00	\$19,580.00	\$912.00			\$12,520.00
32	223	REMOTE CONTROL VALVE, SIZE 1"	EA	207	\$290.00	\$60,030.00	\$443.00	\$91,701.00	\$620.00	\$128,340.00		\$148,005.00
	225	REMOTE CONTROL VALVE, SIZE 1.5"	EA	38		\$16,910.00	\$598.00	\$22,724.00	\$766.00		\$500.00	
	_	COMMON AND CONTROL WIRING	LS	1	\$84,525.00	\$84,525.00	\$41,800.00		\$179,000.00		\$70,500.00	
		B LEAD FREE BALL VALVE	EA	85		\$41,225.00	\$904.00	\$76,840.00	\$596.00		\$667.50	
		BACKFLOW PREVENTER ASSEMBLY	EA	20		\$77,000.00	\$3,470.00	\$69,400.00	\$4,240.00		\$4,677.00	
		PRESSURE REGULATING VALVE	EA	31	\$815.00	\$25,265.00	\$1,320.00	\$40,920.00	\$1,440.00		\$1,832.00	
-		BOOSTER PUMP	EA	8		\$200,000.00	\$37,400.00	\$299,200.00		\$230,400.00		\$295,104.00
		BUBBLERS	EA	22004	\$60.00	\$1,320,240.00	\$13.50	\$297,054.00		\$616,112.00		\$456,583.00
		DRIPLINE	LF	140675		\$281,350.00	\$2.00	\$281,350.00	-	\$450,160.00		\$288,383.75

	Project: 0	C02300 - FIRE DAMAGED ROADWAY LANDSCAPING			Engineers E	stimate	HANFORD RESTORAT CONSERVA	TION &	MCGUIRE A	ND HESTER	TEAM GHILO	OTTI INC
Line No.	Item		Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
41	208683	BALL VALVE FOR FLUSHING	EA	116	\$35.00	\$4,060.00	\$135.00	\$15,660.00	\$62.00	\$7,192.00	\$101.00	\$11,716.00
42	711100	OPERATION INDICATOR	EA	116	\$20.00	\$2,320.00	\$271.00	\$31,436.00	\$38.00	\$4,408.00	\$19.50	\$2,262.00
43	208670	CHECK VALVE	EA	148	\$15.00	\$2,220.00	\$210.00	\$31,080.00	\$31.00	\$4,588.00	\$149.00	\$22,052.00
44	204099	PLANT ESTABLISHMENT, 3 MONTHS	LS	1	\$56,700.00		\$31,000.00		\$133,000.00	\$133,000.00	\$154,380.00	\$154,380.00
45	150604	VINTAGE PLACE TRELLIS REPAIR	LS		\$52,500.00		\$10,800.00		, ,		,	\$48,500.00
46	719209	NEW SERVICE METER PEDESTAL	EA	11	\$11,500.00	\$126,500.00	\$17,200.00	\$189,200.00	\$10,600.00	\$116,600.00	\$11,122.55	\$122,348.05
47	719209	UPGRADE OF SERVICE METER PEDESTAL	EA	1	\$8,000.00	\$8,000.00	\$17,100.00	\$17,100.00	\$11,300.00	\$11,300.00	\$10,476.00	\$10,476.00
48	600100	TRENCHING AND BACKFILLING	LF	2300	\$40.00	\$92,000.00	\$45.00	\$103,500.00	\$33.00	\$75,900.00	\$75.00	\$172,500.00
49	208706	1" CONDUIT INSTALLATION	LF	580	\$12.00	\$6,960.00	\$26.00	\$15,080.00	\$12.60	\$7,308.00	\$11.59	\$6,722.20
50	208706	1.25" CONDUIT INSTALLATION	LF	370	\$15.00	\$5,550.00	\$35.50	\$13,135.00	\$20.00	\$7,400.00	\$18.90	\$6,993.00
51	208706	1.5" CONDUIT INSTALLATION	LF	390	\$20.00	\$7,800.00	\$37.50	\$14,625.00	\$22.00	\$8,580.00	\$20.04	\$7,815.60
52	208706	2" CONDUIT INSTALLATION	LF	950	\$25.00	\$23,750.00	\$32.50	\$30,875.00	\$15.90	\$15,105.00	\$14.70	\$13,965.00
53	208706	3" CONDUIT INSTALLATION	LF	500	\$30.00	\$15,000.00	\$78.50	\$39,250.00	\$35.00	\$17,500.00	\$32.27	\$16,135.00
54	208706	ELECTRICAL WIRING CONNECTIONS FOR IRRIGATION CONTROLLERS AND BOOSTER PUMPS	EA	8	\$3,000.00	\$24,000.00	\$1,020.00	\$8,160.00	\$638.00	\$5,104.00	\$589.00	\$4,712.00
55	208706	ELECTRICAL WIRING CONNECTIONS FOR IRRIGATION CONTROLLERS	EA	4	\$1,200.00	\$4,800.00	\$1,430.00	\$5,720.00	\$789.00	\$3,156.00	\$728.75	\$2,915.00
56	666751	CALTRANS 3.5 CONCRETE ELECTRICAL PULL BOXES	EA	9	\$900.00	\$8,100.00	\$1,060.00	\$9,540.00	\$652.00	\$5,868.00	\$602.00	\$5,418.00
57	666751	CALTRANS 5 CONCRETE ELECTRICAL PULL BOXES	EA	10	\$1,100.00	\$11,000.00	\$1,140.00	\$11,400.00	\$729.00	\$7,290.00	\$673.10	\$6,731.00
58	666751	CALTRANS 6 CONCRETE ELECTRICAL PULL BOXES	EA	2	\$1,400.00	\$2,800.00	\$1,930.00	\$3,860.00	\$1,110.00	\$2,220.00	\$1,026.00	\$2,052.00
59	666751	CALTRANS 3.5T CONCRETE ELECTRICAL PULL BOXES	EA	2	\$1,100.00	\$2,200.00	\$2,480.00	\$4,960.00	\$1,570.00	\$3,140.00	\$1,448.00	\$2,896.00
60	666751	CALTRANS 5T CONCRETE ELECTRICAL PULL BOXES	EA	2	\$1,400.00	\$2,800.00	\$2,750.00	\$5,500.00	\$1,730.00	\$3,460.00	\$1,602.00	\$3,204.00
61	869005	NO. 12 AWG CONDUCTORS	LF	4000	\$2.00	\$8,000.00	\$3.25	\$13,000.00	\$1.80	\$7,200.00	\$1.67	\$6,680.00
62	869005	NO. 10 AWG CONDUCTORS	LF	2000	\$3.00	\$6,000.00	\$4.00	\$8,000.00	\$1.50	\$3,000.00	\$1.34	\$2,680.00
63	869005	NO. 3 AWG CONDUCTORS	LF	2500	\$5.00	\$12,500.00	\$7.25	\$18,125.00	\$4.40	\$11,000.00	\$4.02	\$10,050.00
64	869005	NO. 2 AWG CONDUCTORS	LF	5500	\$5.00	\$27,500.00	\$4.50	\$24,750.00	\$2.40	\$13,200.00	\$2.25	\$12,375.00
65	869005	NO. 1 AWG CONDUCTORS	LF	2000	\$8.00	\$16,000.00	\$12.00	\$24,000.00	\$8.10	\$16,200.00	\$7.46	\$14,920.00
66	999.0111	TREE PROTECTION FENCING	LF	15630	\$5.00	\$78,150.00	\$3.25	\$50,797.50	\$3.00	\$46,890.00	\$20.50	\$320,415.00
67	155530	1.5" WATER SERVICE	EA	20	\$4,300.00	\$86,000.00	\$3,400.00	\$68,000.00	\$11,100.00	\$222,000.00	\$13,200.00	\$264,000.00
		Project C02300				\$6,660,099.70		\$6,713,006.75		\$7,173,703.00		\$7,567,141.00
	% of Esti	mate for Project C02300						0.79%		7.71%		13.62%

	Project: C02300 - FIRE DAMAGED ROADWAY LANDSCAPING				Engineers Es	timate	BRIGHTVIEW LANDSCAPE DEVELOPMENT			
Line No	Line No. Item		Units	Quantity	Unit Price	Total Price	Unit Price Total Price			
1	110001	MOBILIZATION	LS	1	\$493,340.72	\$493,340.72	\$349,500.00	\$349,500.00		
2	120100	TEMPORARY TRAFFIC CONTROL	LS	1	\$151,200.00	\$151,200.00	\$784,250.00	\$784,250.00		
3	074020	WATER POLLUTION CONTROL	LS	1	\$126,000.00	\$126,000.00	\$230,300.00	\$230,300.00		
4	160101	CLEAR AND GRUB	LS		\$105,000.00	\$105,000.00	\$589,000.00	\$589,000.00		
5	9990. 04295	TREE REMOVAL - GROUP A	EA	34	\$500.00	\$17,000.00	\$327.50	\$11,135.00		
6	9990. 04295	TREE REMOVAL - GROUP B	EA	90	\$1,000.00	\$90,000.00	\$596.75	\$53,707.50		
7	9990. 04295	TREE REMOVAL - GROUP C	EA	26	\$2,500.00	\$65,000.00	\$1,293.00	\$33,618.00		
8	9990. 04295	TREE REMOVAL - GROUP D	EA	20	\$4,000.00	\$80,000.00	\$1,955.00	\$39,100.00		
9	9990. 04299	STUMP GRIND, GROUP B	EA	169	\$500.00	\$84,500.00	\$371.25	\$62,741.25		
10	9990. 04299	STUMP GRIND, GROUP C	EA	49	\$1,000.00	\$49,000.00	\$371.25	\$18,191.25		
11	9990. 04299	STUMP GRIND, GROUP D	EA	38	\$1,500.00	\$57,000.00	\$371.25	\$14,107.50		
12	150686	REMOVE AND DISPOSE OF IRRIGATION COMPONENT	LS	1	\$15,750.00	\$15,750.00	\$14,320.00			
13	722001	REMOVE AND DISPOSE OF LOG PILES OR DEBRIS	LS	1	\$13,125.00	\$13,125.00	\$3,600.00	\$3,600.00		
14	1212	SOIL PREPARATION	EA	30300	\$3.50	\$106,050.00	\$3.30	\$99,990.00		
15	4545	24" BOX TREES	EA	82	\$450.00	\$36,900.00	\$390.00	\$31,980.00		
16	45456	15 GALLON TREES	EA	172	\$250.00	\$43,000.00	\$161.00	\$27,692.00		
17	9990. 02559	5 GALLON SHRUBS	EA	4501	\$45.00	\$202,545.00	\$39.20	\$176,439.20		
18	9990. 02559	1 GALLON SHRUBS	EA	25533	\$18.00	\$459,594.00	\$13.40	\$342,142.20		
19	202011	MULCH	SF	570263	\$1.00	\$570,263.00	\$0.38	\$216,699.94		
20	203561	JUTE NETTING	SF	20500	\$1.00	\$20,500.00	\$0.55	\$11,275.00		
21	205051	FOLIAGE PROTECTOR	EA	222	\$80.00	\$17,760.00	\$182.00	\$40,404.00		
22	152400	2" MAIN LINE	LF	25800	\$12.50	\$322,500.00	\$11.25	\$290,250.00		
23	208310	SLEEVE 4"	LF	1225	\$20.00	\$24,500.00	\$15.85	\$19,416.25		
24	208310	SLEEVE 6"	LF	4570	\$20.00	\$91,400.00	\$54.50	\$249,065.00		
25	11	LATERAL LINE	LS	1	\$288,560.50	\$288,560.50	\$693,778.00	\$693,778.00		
26	860782	ELECTRICAL CONDUIT	LF	170	\$8.00	\$1,360.00	\$2.25	\$382.50		
27	208562	QUICK COUPLING VALVE	EA	121	\$610.00	\$73,810.00	\$293.00	\$35,453.00		
28	206747	48 STATION MC-E CONTROLLER	EA	12	\$6,040.00	\$72,480.00	\$13,150.00	\$157,800.00		
29	860640	SITEONE GREENTECH CONTROLLER ASSEMBLY	EA	8	\$18,938.31	\$151,506.48	\$23,170.00	\$185,360.00		
30	206851	MASTER CONTROL VALVE	EA	20	\$935.00	\$18,700.00	\$495.00	\$9,900.00		
31	232	FLOW SENSORS	EA	20	\$600.00	\$12,000.00	\$620.00	\$12,400.00		
32	223	REMOTE CONTROL VALVE, SIZE 1"	EA	207	\$290.00	\$60,030.00	\$704.00	\$145,728.00		
33	225	REMOTE CONTROL VALVE, SIZE 1.5"	EA	38	\$445.00	\$16,910.00	\$492.00	\$18,696.00		
34	_	COMMON AND CONTROL WIRING	LS	1	\$84,525.00	\$84,525.00	\$69,500.00			
35	208683	LEAD FREE BALL VALVE	EA	85	\$485.00	\$41,225.00	\$660.00	\$56,100.00		
36	208420	BACKFLOW PREVENTER ASSEMBLY	EA	20	\$3,850.00	\$77,000.00	\$4,615.00	\$92,300.00		
37	208631	PRESSURE REGULATING VALVE	EA	31	\$815.00	\$25,265.00	\$1,805.00			
38		BOOSTER PUMP	EA	8	\$25,000.00	\$200,000.00	\$36,310.00	\$290,480.00		
39		BUBBLERS	EA	22004	\$60.00	\$1,320,240.00	\$20.45			
40		DRIPLINE	LF	140675	\$2.00	\$281,350.00				

	Project: C	02300 - FIRE DAMAGED ROADWAY LANDSCAPING			Engineers Es	stimate	BRIGHTVIEW LANDSCA	PE DEVELOPMENT
Line No.	Item		Units	Quantity	Unit Price	Total Price	Unit Price	Total Price
41	208683	BALL VALVE FOR FLUSHING	EA	116	\$35.00	\$4,060.00	\$100.00	\$11,600.00
42	711100	OPERATION INDICATOR	EA	116	\$20.00	\$2,320.00	\$19.00	\$2,204.00
43	208670	CHECK VALVE	EA	148	\$15.00	\$2,220.00	\$147.00	\$21,756.00
44	204099	PLANT ESTABLISHMENT, 3 MONTHS	LS	1	\$56,700.00	\$56,700.00	\$151,950.00	\$151,950.00
45	150604	VINTAGE PLACE TRELLIS REPAIR	LS	1	\$52,500.00	\$52,500.00	\$33,050.00	\$33,050.00
46	719209	NEW SERVICE METER PEDESTAL	EA	11	\$11,500.00	\$126,500.00	\$13,260.00	\$145,860.00
47	719209	UPGRADE OF SERVICE METER PEDESTAL	EA	1	\$8,000.00	\$8,000.00	\$14,585.00	\$14,585.00
48	600100	TRENCHING AND BACKFILLING	LF	2300	\$40.00	\$92,000.00	\$224.80	\$517,040.00
49	208706	1" CONDUIT INSTALLATION	LF	580	\$12.00	\$6,960.00	\$20.00	\$11,600.00
50	208706	1.25" CONDUIT INSTALLATION	LF	370	\$15.00	\$5,550.00	\$19.50	\$7,215.00
51	208706	1.5" CONDUIT INSTALLATION	LF	390	\$20.00	\$7,800.00	\$18.50	\$7,215.00
52	208706	2" CONDUIT INSTALLATION	LF	950	\$25.00	\$23,750.00	\$17.25	\$16,387.50
53	208706	3" CONDUIT INSTALLATION	LF	500	\$30.00	\$15,000.00	\$86.19	\$43,095.00
54	208706	ELECTRICAL WIRING CONNECTIONS FOR IRRIGATION CONTROLLERS AND BOOSTER PUMPS	EA	8	\$3,000.00	\$24,000.00	\$1,990.00	\$15,920.00
55	208706	ELECTRICAL WIRING CONNECTIONS FOR IRRIGATION CONTROLLERS	EA	4	\$1,200.00	\$4,800.00	\$1,860.00	\$7,440.00
56	666751	CALTRANS 3.5 CONCRETE ELECTRICAL PULL BOXES	EA	9	\$900.00	\$8,100.00	\$3,315.00	\$29,835.00
57	666751	CALTRANS 5 CONCRETE ELECTRICAL PULL BOXES	EA	10	\$1,100.00	\$11,000.00	\$3,450.00	\$34,500.00
58	666751	CALTRANS 6 CONCRETE ELECTRICAL PULL BOXES	EA	2	\$1,400.00	\$2,800.00	\$3,580.00	\$7,160.00
59	666751	CALTRANS 3.5T CONCRETE ELECTRICAL PULL BOXES	EA	2	\$1,100.00	\$2,200.00	\$3,715.00	\$7,430.00
60	666751	CALTRANS 5T CONCRETE ELECTRICAL PULL BOXES	EA	2	\$1,400.00	\$2,800.00	\$3,978.00	\$7,956.00
61	869005	NO. 12 AWG CONDUCTORS	LF	4000	\$2.00	\$8,000.00	\$7.30	\$29,200.00
62	869005	NO. 10 AWG CONDUCTORS	LF	2000	\$3.00	\$6,000.00	\$7.65	\$15,300.00
63	869005	NO. 3 AWG CONDUCTORS	LF	2500	\$5.00	\$12,500.00	\$9.95	\$24,875.00
64	869005	NO. 2 AWG CONDUCTORS	LF	5500	\$5.00	\$27,500.00	\$10.60	\$58,300.00
65	869005	NO. 1 AWG CONDUCTORS	LF	2000	\$8.00	\$16,000.00	\$10.95	\$21,900.00
66	999.0111	TREE PROTECTION FENCING	LF	15630	\$5.00	\$78,150.00	\$6.90	\$107,847.00
67	155530	1.5" WATER SERVICE	EA	20	\$4,300.00	\$86,000.00	\$5,000.00	\$100,000.00
	Totals for	Project C02300				\$6,660,099.70		\$7,712,495.39
		nate for Project C02300						15.80%